
Wie lautet die fehlende Zahl (bis 10 000)?

Aufgabe 1

1. 9 746 -     =  3 184

2. 8 529 -     =  6 868

3. 7 522 -     =  6 023

4. 7 119 -     =  985

5. 6 955 -     =  1 778

6. 4 571 -     =  1 627

7. 4 070 -     =  2 321

8. 6 666 -     =  761

9. 9 827 -     =  1 460

10. 2 288 -     =  736

Aufgabe 2

1. 7 583 -     =  2 419

2. 6 243 -     =  3 610

3. 8 484 -     =  7 251

4. 9 654 -     =  6 849

5. 6 095 -     =  1 392

6. 9 145 -     =  3 697

7. 7 340 -     =  1 383

8. 5 115 -     =  3 989

9. 8 689 -     =  7 496

10. 5 991 -     =  1 580

Aufgabe 3

1. 3 124 -     =  1 540

2. 8 055 -     =  1 329

3. 8 240 -     =  5 486

4. 6 354 -     =  4 370

5. 6 764 -     =  1 326

6. 7 477 -     =  6 011

7. 7 870 -     =  4 110

8. 6 872 -     =  5 774

9. 9 952 -     =  7 225

10. 9 872 -     =  8 266

Aufgabe 4

1. 9 342 -     =  3 194

2. 7 760 -     =  4 445

3. 7 123 -     =  3 629

4. 9 101 -     =  2 491

5. 2 912 -     =  662

6. 6 430 -     =  3 153

7. 7 083 -     =  333

8. 6 534 -     =  3 504

9. 5 866 -     =  4 621

10. 7 986 -     =  6 444

© MaxKlug.de Online üben  |  
Lehr- und Lernbücher  |  
Arbeitsblätter  |  
Lehr- und Lernmaterialien

Subtrahieren


 




Wie lautet die fehlende Zahl (bis 10 000)?
| ANTWORTEN

Aufgabe 1

1. 9 746 -  6 562  =  3 184

2. 8 529 -  1 661  =  6 868

3. 7 522 -  1 499  =  6 023

4. 7 119 -  6 134  =  985

5. 6 955 -  5 177  =  1 778

6. 4 571 -  2 944  =  1 627

7. 4 070 -  1 749  =  2 321

8. 6 666 -  5 905  =  761

9. 9 827 -  8 367  =  1 460

10. 2 288 -  1 552  =  736

Aufgabe 2

1. 7 583 -  5 164  =  2 419

2. 6 243 -  2 633  =  3 610

3. 8 484 -  1 233  =  7 251

4. 9 654 -  2 805  =  6 849

5. 6 095 -  4 703  =  1 392

6. 9 145 -  5 448  =  3 697

7. 7 340 -  5 957  =  1 383

8. 5 115 -  1 126  =  3 989

9. 8 689 -  1 193  =  7 496

10. 5 991 -  4 411  =  1 580

Aufgabe 3

1. 3 124 -  1 584  =  1 540

2. 8 055 -  6 726  =  1 329

3. 8 240 -  2 754  =  5 486

4. 6 354 -  1 984  =  4 370

5. 6 764 -  5 438  =  1 326

6. 7 477 -  1 466  =  6 011

7. 7 870 -  3 760  =  4 110

8. 6 872 -  1 098  =  5 774

9. 9 952 -  2 727  =  7 225

10. 9 872 -  1 606  =  8 266

Aufgabe 4

1. 9 342 -  6 148  =  3 194

2. 7 760 -  3 315  =  4 445

3. 7 123 -  3 494  =  3 629

4. 9 101 -  6 610  =  2 491

5. 2 912 -  2 250  =  662

6. 6 430 -  3 277  =  3 153

7. 7 083 -  6 750  =  333

8. 6 534 -  3 030  =  3 504

9. 5 866 -  1 245  =  4 621

10. 7 986 -  1 542  =  6 444
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